Notice for appointment of Regular / Rural Retail Outlet Dealerships Bharat Petroleum Corporation Ltd. proposes to appoint Retail Outlet dealers in Haryana as per following details:

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the site M.). *	(	arrange appl	e to be d by the icant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	2 3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC SC CC-1 SC CC-2 SC PH ST ST CC-1 ST CC-2 ST PH OBC OBC CC-1 OBC CC-1 OBC CC-2 OBC PH OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	ent for	Estimated fund required for developm ent of infrastruct ure at RO (Rs in lakhs)	Draw of Lots / Bidding (Rs in Lakhs)	(Rs in lakhs)	
1	VILLAGE NIYAMATPUR ON NANGAL CHOUDHARY- BEHROR ROAD	MAHENDRAGARH	RURAL	75	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
2	Village Kahnaur	ROHTAK	RURAL	80	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
3	Village Baliana	ROHTAK	RURAL	80	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
4	In between Village Bhatgaon Dogran and Village Mehlana on Farmana Road	SONIPAT	RURAL	80	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
5	Within 3 km from Islamic madarsa towards ITI Rajlu Garhi on Ganaur- Rajlu Garhi Road	SONIPAT	RURAL	75	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
6	VILLAGE KHERI SHARAFALI (NOT ON NH/SH)	KARNAL	RURAL	80	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
7	Village Patti Kalyana (Not on NH)	PANIPAT	RURAL	75	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
8	VILLAGE RAIR KALAN ON MUNAK ASSANDH ROAD	PANIPAT	RURAL	75	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
9 10	Village Chuli Khurd from Saraswati Nagar (Mustafabad) to Gundani, on	HISAR YAMUNANAGAR	RURAL	60 55	SC SC	CFS CFS	35 35	35 35	1225 1225	0	0	Draw of lots Draw of lots	0	2
	Mustafabad Ladwa road From Pansara to Behrampur, Pansara Shahzadpur									-	-		-	
11	road VILLAGE KUNJPURA ON MIRZAPUR-DOOMROLI	YAMUNANAGAR	RURAL	60	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
12	ROAD	MAHENDRAGARH	RURAL	60	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
13	VILLAGE HASANPUR ON NARNAUL-RAMBAS ROAD	MAHENDRAGARH	RURAL	60	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
14	BETWEEN MEGHANWAS TO SURJANWAS ON MAHENDERGARH-BAWANIA ROAD INCLUDING MEGHANWAS AND SURJANWAS	MAHENDRAGARH	RURAL	70	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
15	Village Rasulpur, On Palwal-Hasanpur Road	PALWAL	RURAL	75	SC	CFS	35	35	1225	0	0	Draw of lots	0	2

	Villers Assures on Assures Cilcuthi Band District	[	<u> </u>											1
16	Village Asawata on Asawata- Silouthi Road, District Palwal	PALWAL	RURAL	60	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
17	Village Salhawas on Matanhail-Kosli Road	JHAJJAR	RURAL	80	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
18	VILLAGE BAPAULI ON SAMALKHA TO BAPAULI ROAD	PANIPAT	RURAL	60	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
19	VILLAGE THEK ON PUNHNA-JUREHERA ROAD	NUH	RURAL	235	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
20	Village Pelak, On Palwal Aligarh Road	PALWAL	REGULAR	190	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
21	Village Kasni on SH 22, Jhajjar-Kosli Road	JHAJJAR	REGULAR	105	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
22	Between Km stone 90 to 95 on Gurgaon Alwar road NH248A, District Nuh	NUH	REGULAR	235	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
23	BETWEEN KM STONE NO. 68 AND 71, LHS ON NH-8 (NEW NH-48), DELHI- JAIPUR ROAD	REWARI	REGULAR	375	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
24	BETWEEN KM STONE NO. 79 AND 82, LHS ON NH-8 (NEW NH-48), DELHI- JAIPUR ROAD	REWARI	REGULAR	375	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
25	Village Sihaul, RHS, Palwal to Aligarh Road, NH 334D	PALWAL	REGULAR	190	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
26	VILLAGE- JATUWAS ON SH-15, REWARI- BHARAWAS ROAD	REWARI	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
27	BETWEEN KM STONE 27 AND 32 (NEW STONE NO. 13 AND 18), LHS ON NH-11	REWARI	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
28	VILLAGE NAHAR, LHS TOWARDS KOSLI ON SH-22 ( KANINA- JHAJJAR ROAD)	REWARI	REGULAR	120	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
29	VILLAGE LEHRODA, RHS ON SH17 ( NARNAUL MAHENDERGARH ROAD)	MAHENDRAGARH	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
30	Within TAURU Muncipal Limit, not on (NH/SH)	NUH	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of lots	0	3
31	Sector 87,Village Bhangrola on Multi Utility Corridor Road, Manesar	GURUGRAM	REGULAR	200	SC	CFS	20	20	400	0	0	Draw of lots	0	3
32	VILLAGE KHAIRA ON MAHENDERGARH SATNALI ROAD	MAHENDRAGARH	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
33	From Dosarka Chowk towards Thana-Chappar on NH 344 on LHS within Ambala Dist. Limit	AMBALA	REGULAR	152	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
34	BETWEEN VILLAGE FAZILPUR AND VILLAGE BAHALGARH ON NH352A SONEPAT-BAHALGARH ROAD	SONIPAT	REGULAR	520	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
35	SONIPAT CITY WML ON SONIPAT NARELA ROAD	SONIPAT	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of lots	0	3
36	LAKHAN MAJRA ON SH16A	ROHTAK	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
37	BETWEEN VILLAGE BAHMANWAS AND VILLAGE GHILLOR KHURD ON NH709 (RHS) ROHTAK TO GOHANA	ROHTAK	REGULAR	180	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
38	BETWEEN VILLAGE BAHMANWAS AND VILLAGE GHILLOR KHURD ON NH709 (LHS) ROHTAK TO GOHANA	ROHTAK	REGULAR	160	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
39	BETWEEN VILLAGE KHANDRAI AND VILLAGE JAGSI ON GOHANA SAFIDON ROAD	SONIPAT	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
40	With in 10 KM of Rohtak Sugar Mill Bhali Anandpur on NH 709E Rohtak Bhiwani Road, towards Kalanaur	ROHTAK	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
41	Sonepat within municipal limit on Vishwakarma Marg	SONIPAT	REGULAR	175	SC	CFS	20	20	400	0	0	Draw of lots	0	3

42		KARNAL	REGULAR	120		CEE	20	20	400	0	0	Drow of late	0	2
42	Sector 9 Karnal WML			130	SC	CFS CFS	-	20 30	400	0	0	Draw of lots	0	3
43	WITHIN MUNICIPLE LIMIT NILOKHERI, ON NH44	KARNAL	REGULAR	170	SC	CFS	30 20		900	0	0	Draw of lots	0	3
44	Sector 12 Karnal WML	KARNAL	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of lots	0	3
45	IN BETWEEN MILESTONE 146 -150 ON NH44, RHS DELHI - AMBALA ROAD	KARNAL	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
46	IN BETWEEN KM STONE 110-116 ON NH44, LHS FROM DELHI TOWARDS AMBALA ROAD	KARNAL	REGULAR	160	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
47	WITHIN MUNICIPAL LIMIT INDRI	KARNAL	REGULAR	120	SC	CFS	20	20	400	0	0	Draw of lots	0	3
48	VILLAGE SACHA KHEDA ON NH52	JIND	REGULAR	160	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
49	From Tajewala to Kalesar on LHS on Paonta Sahib Road (NH 907)	YAMUNANAGAR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
50	BETWEEN VILLAGE SHOHDAPUR AND VILLAGE MADLAUDA ON SH14	PANIPAT	REGULAR	110	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
51	Hisar City WML - On Kaimri Mangali Road	HISAR	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of lots	0	3
52	From Kharak Pandwa to Titram Mode on RHS, On NH 152, within Kaithal district limits	KAITHAL	REGULAR	160	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
53	From Jatwar to Shahzadpur, On RHS on NH 344	AMBALA	REGULAR	152	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
54	VILLAGE SHAHPUR ON NH 709A	JIND	REGULAR	200	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
55	Between Km Stone No. 121-123 on NH09 RHS Sirsa to Fatehabad	FATEHABAD	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
56	Village Nuna Majra on Jhajjar-Bahadurgarh Road, NH 352R (OLD SH 22)	JHAJJAR	REGULAR	160	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
57	WITHIN 5 KM FROM ROHAD TOLL TOWARDS DELHI ON NH09 IN ROHTAK DISTRICT	ROHTAK	REGULAR	370	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
58	In between Km stone 362 -372 Rohtak Jhajjar road NH 352	ROHTAK	REGULAR	180	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
59	VILLAGE UCHANA (NOT ON NH)	JIND	RURAL	80	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
60	VILLAGE KUTAIL FROM BUS STOP TO NH44 INTERSECTION	KARNAL	RURAL	70	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
61	IN BETWEEN KM STONE 78-88 ON NH 709, LHS from BHIWANI to PANIPAT	ROHTAK	REGULAR	180	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
62	VILLAGE CHILKANI DHAB ON NOHAR ROAD	SIRSA	RURAL	130	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
63	In Rohtak WML on circular road LHS from sunariya chowk to ihajjar chungi	ROHTAK	REGULAR	220	OBC PH	DC	20	20	400	32	55	Draw of lots	15	4
64	village silana on silana-farmana road	SONIPAT	RURAL	130	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
65	Between Km stone no. 61 to 64 on SH21, LHS Fatehabad to Ratia	FATEHABAD	REGULAR	120	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
66	Hisar City WML - In between Rani Laxmi Bai Chowk and Jindal Club on OP Jindal Marg	HISAR	REGULAR	160	OBC	DC	20	20	400	32	55	Draw of lots	15	4
67	Charkhi Dadri WML - within 2 km from Dadri Bus Stand on Dadri to Loharu Road	CHARKHI DADRI	REGULAR	100	OBC	DC	20	20	400	32	55	Draw of lots	15	4
68	Village Nang Thala on SH 10	HISAR	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
69	Between km Stone No. 113-117 on NH09 LHS Sirsa to Fatehabad	FATEHABAD	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
70	(including bahmanwala)	FATEHABAD	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
71	VILLAGE BHUThAN KALAN ON Bhuthan ROAD towards SH02	FATEHABAD	RURAL	80	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4

72	VILLAGE DHINGSARA ON SH-21	FATEHABAD	REGULAR	110	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
73	VILLAGE SANIANA ON BHUNA - UKLANA ROAD (SH- 02)	FATEHABAD	REGULAR	104	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
74	BETWEEN KM STONE NO. 27 TO 40 ON BHUNA- FATEHABAD ROAD (SH-02)	FATEHABAD	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
75	WML Sirsa, between Sirsa Busstand and Nh09 on Hisar Road LHS from Sirsa towards NH09	SIRSA	REGULAR	160	OBC	DC	20	20	400	32	55	Draw of lots	15	4
1 /6	within 3km from Shah Satnam Ji Speciality Hospital towards Kagdana on Sirsa Bhadra Road	SIRSA	RURAL	94	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
77	VILLAGE BERWALA KHURD Tehsil Ellenabad	SIRSA	RURAL	100	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
78	VILLAGE DHOLPALIA ON HANUMANGARH ROAD	SIRSA	RURAL	125	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
79	VILLAGE DING ON SARDULGARH ROAD RHS from Ding to Sardulgarh	SIRSA	RURAL	80	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
80	WITHIN 2KM OF PRIMARY HEALTH CENTRE MALLEKAN ON SIRSA ELLANABAD ROAD(SH-23)	SIRSA	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
81	VILLAGE NEEMLA ON NEEMLA TO RAMPURA (RAJASTHAN VILLAGE) ROAD	SIRSA	RURAL	102	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
82	WITHIN 2 KM FROM RAJASTHAN BORDER TO DABWALI ON CHAUTALA BYPASS ROAD(NH-54), RHS	SIRSA	REGULAR	225	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
83	Village Hadoli Tehsil Ratia on Ayalki Hadoli road	FATEHABAD	RURAL	80	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
84	From Shri Balaji Senior Secondary School kagdana to Grain Market Kagdana on kagdana-kumharia road	SIRSA	RURAL	124	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
85	within 2 km of new bus stand Fatehabad on Fatehabad to Hisar Road (LHS) towards Hisar	FATEHABAD	RURAL	100	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
86	within municipal limit fatehabad on fatehabad sardulgarh road	FATEHABAD	REGULAR	120	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
87	BETWEEN KM STONE 35 TO 40 ON SIRSA ELLENABAD ROAD SH-23	SIRSA	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
88	within municipal limit Tohana on Tohana Damkora Road	FATEHABAD	REGULAR	120	SC	CFS	20	20	400	0	0	Draw of lots	0	3
89	Between KM stone 40 TO 44,On Delhi-Mathura Highway,NH-2(New NH-19),LHS	FARIDABAD	REGULAR	355	OPEN	СС	35	35	1225	32	12	Bidding	30	5
90	Between village Dhabi Kalan and HR-Rajasthan Border on SH21 (including Dhabi Kalan)	FATEHABAD	REGULAR	120	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
91	Between km Stone No. 97-100 on NH09 (LHS) from Sirsa to Fatehabad	SIRSA	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
92	Village Bhuratwala Tehsil Ellenabad on SH23 RHS Sirsa to Ellenabad	SIRSA	REGULAR	100	Open PH	DC	35	35	1225	32	75	Draw of lots	15	5
93	Within 2km of Ellenabad Tehsil Office on SH23 RHS Ellenabad to Sirsa	SIRSA	REGULAR	105	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
94	village mithi surera tehsil ellenabad on sh 23 LHS ellenabad to sirsa	SIRSA	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
95	Within Municipal Limit Ellenabad on FCI Road between Panchmukhi Chowk and Bhagwan Parshuram Chowk	SIRSA	REGULAR	120	OPEN	DC	20	20	400	32	55	Draw of lots	15	5

r	1	1	1 1			1	1	1			1		1	· · · · · · · · · · · · · · · · · · ·
96	Between Village Dhani Sadhan Wali and Rajasthan border RHS on Bani to Surewala(Rajasthan) Road	SIRSA	RURAL	115	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
97	Village Abholi Tehsil Rania on SH32	SIRSA	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
98	Village Jamal, Within 2km of HR-Rajasthan border on Jamal Nathusari Chopta Road	SIRSA	RURAL	125	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
99	BETWEEN KM STONE 108 TO 110 ON NH-09 SIRSA to HISAR, RHS	SIRSA	REGULAR	150	OBC	сс	35	35	1225	32	12	Bidding	30	4
100	Between Tohana & Samain (including both) on NH148B	FATEHABAD	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
101	Kaithal WML (Not on any NH or SH)	KAITHAL	REGULAR	115	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
102	village hizrawan khurd on sottar bhattu road	FATEHABAD	RURAL	80	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
103	village shahidanwali tehsil fatehabad	FATEHABAD	RURAL	73	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
104	village kaluana on kaluana manaktibi (rajasthan) road	SIRSA	RURAL	100	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
105	Polytechnic chowk to jandli flyover, Ambala city	AMBALA	REGULAR	130	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
106	Ambala City WML - 1 (Not on any SH or NH)	AMBALA	REGULAR	130	OPEN	CC	20	20	400	32	12	Bidding	30	5
107	Within 3km of Bhagat Public School JeevanNagar on SH32 Sirsa Dabwali Road	SIRSA	REGULAR	101	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
108	On Ambala to Anandpur Jalbera Road, within Ambala city WML	AMBALA	REGULAR	110	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
109	Faridabad Within Muncipal Limit, 5 km from Khazani Girls Public School On Dabua-Pali Road	FARIDABAD	REGULAR	230	OPEN	сс	20	20	400	32	12	Bidding	30	5
110	Sector 81, Faridabad City between BPTP bridge and World Street Omaxe	FARIDABAD	REGULAR	470	OPEN	сс	20	20	400	32	12	Bidding	30	5
111	Anywhere on dividing road of sector 65 and sector 66	GURUGRAM	REGULAR	220	OPEN	сс	20	20	400	32	12	Bidding	30	5
112	From Saha to Shahzadpur on NH 344 on RHS	AMBALA	REGULAR	155	OPEN	CC	35	35	1225	32	12	Bidding	30	5
113	BADARPUR BORDER TO BADHKAL MOR METRO STATION, LHS, ON DELHI-MATHURA HIGHWAY, NH- 2(New NH-19)	FARIDABAD	REGULAR	180	OPEN	сс	20	20	400	32	12	Bidding	30	5
114	Faridabad City, Sector 32 & Sector 31 on Old GT Road (Sher Shah Suri Road)	FARIDABAD	REGULAR	490	OPEN	сс	20	20	400	32	12	Bidding	30	5
115	BETWEEN KM STONE NO. 14 AND 16, LHS ON NH- 148B ( KOTPUTLI-NARNAUL ROAD)	MAHENDRAGARH	REGULAR	200	OPEN	сс	35	35	1225	32	12	Bidding	30	5
116	BETWEEN KM STONE NO. 10 AND 12, LHS ON NH148B (KOTPUTLI NARNAUL ROAD)	MAHENDRAGARH	REGULAR	255	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
117	BETWEEN KM STONE NO. 10 AND 12, RHS ON NH148B (KOTPUTLI NARNAUL ROAD)	MAHENDRAGARH	REGULAR	250	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
118	From Baldevnagar to Panjokhra on NH344 RHS, District Ambala	AMBALA	REGULAR	152	OPEN	сс	35	35	1225	32	12	Bidding	30	5
119	Village Likhi, On Bamnikheda- Hassanpur Road	PALWAL	RURAL	100	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
120	VILLAGE PAWTI ON PRANPURA TO NANGAL SIYA ROAD	REWARI	RURAL	120	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
121	VILLAGE GEHLAB, On Gehlab to Kuslipur Road	PALWAL	RURAL	110	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
122	Anywhere on dividing road of sector 88A and sector 88B	GURUGRAM	REGULAR	210	OPEN	DC	20	20	400	32	75	Draw of lots	15	5
123	WITHIN MUNICIPAL LIMIT OF NARNAUL ON NARNAUL-SINGHANA ROAD	MAHENDRAGARH	REGULAR	150	OPEN	сс	30	30	900	32	12	Bidding	30	5

124	Village Umri on Indri road, Tehsil: Thanesar	KURUKSHETRA	RURAL	75	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
	BETWEEN KM STONE NO. 18 AND 20. LHS ON NH-		_			-			_					
125	148B (KOTPUTLI NARNAUL ROAD)	MAHENDRAGARH	REGULAR	250	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
126	Village Patti Khot, Tehsil Kaithal, District Kaithal	KAITHAL	RURAL	56	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
127	VILLAGE ANDHOP On Sondh-Andhop Road	PALWAL	RURAL	60	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
128	BETWEEN KM STONE NO. 53 AND 58 (NEW STONE NO. 39 AND 44), LHS ON NH-11	MAHENDRAGARH	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
129	Village Sadpura on Sadpura to Tigaon Road	FARIDABAD	RURAL	210	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
130	Village Badsa, on MDR 136, Kaliawas-Badli Road	JHAJJAR	RURAL	90	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
131	VILLAGE IQBALPUR NANGLI ON KANWI- BIJORAWAS ROAD	MAHENDRAGARH	RURAL	100	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
132	Village Ujina on Nuh-Hodal Road	NUH	RURAL	175	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
133	Village Jaisinghpur On Nuh-Hodal Road	NUH	RURAL	195	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
134	Village Fatehpur on Bilaspur- Tauru Road	NUH	RURAL	225	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
135	Gurugram City( on Jail road, between Dhumaspur and Nayagaon)	GURUGRAM	REGULAR	160	OPEN	DC	20	20	400	32	75	Draw of lots	15	5
136	Village Abhepur, On Garhi Bazidpur-Kharoda Road	GURUGRAM	RURAL	95	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
137	Anywhere on Prithla- Dhatir Road	PALWAL	RURAL	165	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
138	BETWEEN KM STONE NO. 5 AND 9, RHS ON NH-148B (KOTPUTLI-NARNAUL ROAD)	MAHENDRAGARH	REGULAR	255	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
139	BETWEEN KM STONE 53 TO 58 LHS DELHI TO MATHURA ON NH-2(NEW NH-19)	PALWAL	REGULAR	300	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
140	BETWEEN KM STONE NO. 25 AND 28, RHS ON NH- 148B (KOTPUTLI NARNAUL ROAD)	MAHENDRAGARH	REGULAR	250	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
141	BETWEEN KM STONE NO. 25 AND 28, LHS ON NH- 148B (KOTPUTLI NARNAUL ROAD)	MAHENDRAGARH	REGULAR	250	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
142	Anywhere on dividing Road of sector 68 and Sector 69	GURUGRAM	REGULAR	240	OPEN	СС	20	20	400	32	12	Bidding	30	5
143	VILLAGE DULOTH AHIR ON MAHENDERGARH TO BHALOTH ROAD	MAHENDRAGARH	RURAL	70	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
144	Anywhere on dividing road of sector 69 and sector 70	GURUGRAM	REGULAR	240	ОВС	DC	20	20	400	32	75	Draw of lots	15	4
145	VILLAGE SEHORE ON KANINA BAGHOT ROAD	MAHENDRAGARH	RURAL	75	OPEN CC 1	DC	35	35	1225	16	35	Draw of lots	5	4
146	Village Sondh on Nuh-Hodal Road, within 8 km of Hodal Civil court	PALWAL	RURAL	145	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
147	BETWEEN KM STONE NO. 53 AND 58 (NEW STONE NO. 39 AND 44), RHS ON NH-11	MAHENDRAGARH	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of lots	15	5
148	Village Bidhwaka,On Nimot- ballabhgarh Road	GURUGRAM	RURAL	80	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
149	Village Rajpura on Haily Mandi-Pahalwas Road	JHAJJAR	RURAL	115	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
150	Village Patauda on Haily Mandi-Kulhana Road	JHAJJAR	RURAL	115	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
151	Village Kameda, On Firozpur-Jhirka To Biwan Road	NUH	RURAL	290	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
152	Village Biwan, On Biwan-Jamalgarh Road	NUH	RURAL	175	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
153	Village Dadri toye ,on SH 15A, Jhajjar-Gurugram Road	JHAJJAR	REGULAR	125	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
154	BETWEEN KM STONE 27 AND 32 (NEW STONE NO. 13 AND 18), RHS ON NH-11	REWARI	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5

155	VILLAGE DADLANA FROM PROPEL CHOWK TOWARDS RAILWAY CROSSING SINGHPURA	PANIPAT	RURAL	60	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
156	Village Nacholi on Nacholi to Jasna Road	FARIDABAD	REGULAR	190	ОВС	СС	20	20	400	32	12	Bidding	30	4
157	WML PANIPAT ON HARIDWAR BYPASS ROAD	PANIPAT	REGULAR	120	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
158	VILLAGE RAIPUR RANI, TEHSIL RAIPUR RANI, DISTRICT PANCHKULA	PANCHKULA	RURAL	90	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
159	From Deoban to Kithana on SH 11A, District Kaithal	KAITHAL	REGULAR	104	OPEN CC 1	DC	35	35	1225	32	75	Draw of lots	15	5
160	From Pipli Chowk to Mathana, RHS ON SH06	KURUKSHETRA	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
161	Village Teek, Tehsil Kaithal, District Kaithal	KAITHAL	RURAL	63	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
162	From Keorak to Titram Mod on RHS of new Kaithal Bye Pass	KAITHAL	REGULAR	155	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
163	From Saha to Shahzadpur on NH 344 on LHS	AMBALA	REGULAR	152	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
164	PIPLI TO BIR MATHANA, LHS ON SH-6	KURUKSHETRA	REGULAR	130	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
165	Ambala Cantt to Saha, On NH 444A	AMBALA	REGULAR	161	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
166	Ambala Cantt WML 1 (Not on any SH or NH)	AMBALA	REGULAR	120	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
167	Ambala City WML 2 (Not on any NH or SH)	AMBALA	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of lots	0	3
168	Pehowa Cheeka road within Kurukshetra district limit	KURUKSHETRA	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
169	Within 5km from NIT Kurukshetra main gate on Kirmach Road	KURUKSHETRA	RURAL	75	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
170	From Shiv Chowk Bilaspur towards Sadhaura on Bilaspur-Sadhaura Road	YAMUNANAGAR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
171	From Agrasen Chowk to Manakpur, LHS on NH907	YAMUNANAGAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
172	From Agrasen Chowk to Railway station Jagadhri, RHS	YAMUNANAGAR	REGULAR	180	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
173	VILLAGE JAWAN ON JAWAN TO SADARPUR ROAD, DISTRICT FARIDABAD	FARIDABAD	RURAL	95	OBC CC 1	DC	35	35	1225	16	35	Draw of lots	5	3
174	Damla to Vishwakarma Chowk on SH - 6, Kurukshetra - Yamuna Nagar Road	YAMUNANAGAR	REGULAR	130	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
175	VILLAGE KHALILA MAJRA NAIN	PANIPAT	RURAL	80	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
176	WITHIN 3KM FROM REFINERY PROPEL CHOWK TOWARDS NH44 INTERSECTION, LHS ON REFINERY ROAD	PANIPAT	RURAL	100	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
177	VILLAGE SITHANA ON REFINERY ROAD	PANIPAT	RURAL	80	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
178	VILLAGE GAGSINA ON MDR 115	KARNAL	RURAL	100	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
179	Village Nangal Jogian, On Sikri - Sarmathla Road	FARIDABAD	RURAL	120	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
180	BETWEEN VILLAGE TARAORI AND SAGA ON SOUNKRA ROAD (LHS) FROM TARAORI TOWARDS SAGA	KARNAL	RURAL	60	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
181	Village Atali on Atali to Chainnsa road District Faridabad	FARIDABAD	RURAL	185	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
182	BETWEEN KM STONE NO. 102 AND 104, RHS ON NH- 8 (NEW NH-48), DELHI- JAIPUR ROAD	REWARI	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
183	Village Pinangawan, on Pinangawan-Punahna Road, District Nuh	NUH	RURAL	175	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
184	Chandawali to Machgarh On Mohna Road	FARIDABAD	REGULAR	330	SC	CFS	20	20	400	0	0	Draw of lots	0	3

			1 1		1						1	1		1
185	Between Km Stone 38 to 42 on Gurgaon Alwar Road, NH248A	NUH	REGULAR	205	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
186	BETWEEN KM STONE NO. 104 AND 107, RHS ON NH- 8 (NEW NH-48), DELHI- JAIPUR ROAD	REWARI	REGULAR	375	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
187	Between km stone 25 & 35 LHS on Gurgaon-Alwar Road, NH248A	NUH	REGULAR	230	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
188	Village Dundaheri on Nuh-Hodal Road	NUH	RURAL	185	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
189	Village Khurdi (Radaur)	YAMUNANAGAR	RURAL	70	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
190	Tauru Within Muncipal Limit on Naurangpur-Tauru Road	NUH	REGULAR	235	Open PH	DC	20	20	400	32	55	Draw of lots	15	5
191	Between Km stone 82 to 90 LHS on Gurgaon Alwar road NH248A	NUH	REGULAR	235	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
192	Faridabad City, Anywhere on Jaitpur- Basantpur Road	FARIDABAD	REGULAR	270	OPEN	DC	20	20	400	32	75	Draw of lots	15	5
193	BETWEEN KM STONE NO. 98 AND 100, RHS ON NH-8 (NEW NH-48), DELHI- JAIPUR ROAD	REWARI	REGULAR	375	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
194	In between km stone 9-13 on NH334B RHS from UP Border to Kharkhoda	SONIPAT	REGULAR	155	OPEN	сс	35	35	1225	32	12	Bidding	30	5
195	From Shahbad to Saha,RHS on NH-444A within Kurukshetra district limit	KURUKSHETRA	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
196	Within 5 km from Ambedkar chowk Ladwa towards Shahbad on SH-7	KURUKSHETRA	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
197	IN BETWEEN KM STONE 72-85 ON NH-09 DELHI ROHTAK ROAD RHS	ROHTAK	REGULAR	260	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
198	In Between MG Motors Rohtak and Jhajjar Chowk on HUDA Road	ROHTAK	REGULAR	160	SC	CFS	20	20	400	0	0	Draw of lots	0	3
199	BETWEEN KM STONE NO. 89 AND 92, RHS ON NH-8 (NEW NH-48), DELHI-JAIPUR ROAD	REWARI	REGULAR	150	OPEN	сс	35	35	1225	32	12	Bidding	30	5
200	Between Ratia Tehsil Office and Village Hamzapur (including Hamzapur) on SH21	FATEHABAD	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
201	BETWEEN KM STONE NO. 104 AND 107, LHS ON NH- 48 (DELHI- JAIPUR ROAD)	REWARI	REGULAR	375	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
202	BETWEEN KM STONE NO. 100 AND 102, LHS ON NH- 8 (NEW NH-48), DELHI- JAIPUR ROAD	REWARI	REGULAR	375	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
203	BETWEEN KM STONE NO. 83 AND 85, LHS ON NH-8 (NEW NH-48), DELHI- JAIPUR ROAD	REWARI	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
204	VILLAGE DAHINA ON SH-24 (REWARI-KANINA ROAD)	REWARI	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
205	BETWEEN KM STONE NO 9 AND 12 ON SH24 (REWARI-KANINA ROAD)	REWARI	REGULAR	125	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
206	Village Matanhail, on Chuchakwas -jharli road	JHAJJAR	RURAL	70	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
207	Between Village Jurasi Saraf Khas and Village Hathwala on Pawti-Hathwala Road	PANIPAT	RURAL	80	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
208	Village Urlana Kalan on Gohana Safidon Road	PANIPAT	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
209	BETWEEN VILLAHE JHANJ KHURD & UCHANA KALAN ON NH 352, LHS FROM JIND TO NARVANA	JIND	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
210	BETWEEN VILLAHE JHANJ KHURD & UCHANA KALAN ON NH 352, RHS FROM JIND TO NARVANA	JIND	REGULAR	180	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
211	VILLAGE CHHATTAR, DISTRICT JIND	JIND	RURAL	90	SC	CFS	35	35	1225	0	0	Draw of lots	0	2

212	BETWEEN VILLAGE RAJA KHERI & BABAIL ON BABAIL	PANIPAT	RURAL	90	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
213	ROAD WITHIN 3 KM FROM GURJAR CHOWK TOWARDS	PANIPAT	RURAL	100	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
214	CHHAJPUR KHURD ON CHAUTALA ROAD Village Majri, Tehsil Ambala Cantt, District Ambala	AMBALA	RURAL	65	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
215	From Keorak towards Pehowa on RHS of NH 152 (Ambala - Hissar Road), within Kaithal district limits	KAITHAL	REGULAR	155	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
216	From Cheeka to Bhagal, SH 6, District Kaithal	KAITHAL	REGULAR	101	OPEN CC 1	DC	35	35	1225	32	75	Draw of lots	15	5
217	Village Guhla, Tehsil Guhla, District Kaithal	KAITHAL	RURAL	80	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
218	Kaithal WML 2 (Not on any NH or SH)	KAITHAL	REGULAR	135	SC	CFS	20	20	400	0	0	Draw of lots	0	3
219	Village Dhand, Tehsil Dhand	KAITHAL	RURAL	52	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
220	From Siwan to Cheeka On SH 11, District Kaithal	KAITHAL	REGULAR	102	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
221	Shambhu Toll to Village Mohra, on RHS of NH 44 Within District Ambala Limits	AMBALA	REGULAR	170	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
222	Village Jharli on MDR 130, Matanhail-Jharli-bahu Road	JHAJJAR	RURAL	120	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
223	From Sahapur to Kohra Bhura on SH 1, Within Ambala District Limits	AMBALA	REGULAR	105	SC CC 1	CFS	35	35	1225	0	0	Draw of lots	0	3
224	From Saha Chowk to Shahabad on NH 444A on LHS, within Ambala District	AMBALA	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
225	Baldev Nagar to Dangdheri within Ambala City limits on LHS on Chandigarh Ambala Highway	AMBALA	REGULAR	160	OPEN	СС	35	35	1225	32	12	Bidding	30	5
226	Village Chuchakwas, Tehsil Matanhail (Not on NH/SH)	JHAJJAR	RURAL	125	Open PH	DC	35	35	1225	16	35	Draw of lots	5	4
227	jhajjar city Within Municipal limits on Jhajjar- Gawalison-Chuchakwas Road	JHAJJAR	REGULAR	140	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
228	Village Daboda on Farrukhnagar-haily Mandi Road	GURUGRAM	RURAL	105	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
229	Village Gawalison, Tehsil matanhail, on Jhajjar- Gawalison-Chuchakwas Road, District Jhajjar	JHAJJAR	RURAL	140	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
230	Village Khaitawas on Wazirpur-Farrukhnagar Road	GURUGRAM	RURAL	75	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
231	Village Jakhoda on Delhi-Rohtak Road	JHAJJAR	RURAL	230	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
232	Within 8km from Markanda River Bridge towards Ambala on NH-44 (LHS)	KURUKSHETRA	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
233	From Brahma mandir chowk kurukshetra to Brahma Sarover on KBD road	KURUKSHETRA	REGULAR	105	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
234	From kail to Chuhadpur Khurad, on new Jagadhri to Tajewala road	YAMUNANAGAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
235	From Thana Chappar to Jagadhri Intersection on NH 344 LHS	YAMUNANAGAR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
236	From Thol to Ismailabad, NH 152 RHS	KURUKSHETRA	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
237	Shahbad towards thol, on SH-4	KURUKSHETRA	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
238	From Shiv Chowk Bilaspur towards Jagadhari on Bilaspur-Jagadhri road	YAMUNANAGAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
239	From Thana Chappar towards Adhoya on SH4 within Yamunanagar District Limit	YAMUNANAGAR	REGULAR	100	OBC CC 1	DC	35	35	1225	32	75	Draw of lots	15	4

	For an internation to Associate an All		1 1				1	1			1		1	
240	From Jagadhri Intersection to Aurangabad on NH 344 LHS	YAMUNANAGAR	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of lots	15	5
241	Between km stone 141-145 on NH09 LHS fatehabad to hisar	FATEHABAD	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
242	Village Nindana on Meham Gohana Road SH 16A	ROHTAK	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
243	Sonepat WML, Within 5KM of Tiranga Chowk On Sonepat Mehlana Road	SONIPAT	REGULAR	170	OBC	DC	20	20	400	32	55	Draw of lots	15	4
244	Within 2km of Bhattu Sub Tehsil Office on Bhattu Kirdhan Road	FATEHABAD	RURAL	84	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
245	IN BETWEEN KM STONE 56-61 ON NEW NH 44(OLD NH 1) DELHI-AMBALA ROAD LHS	SONIPAT	REGULAR	230	ОВС	DC	35	35	1225	32	95	Draw of lots	15	4
246	IN BETWEEN KM STONE 59-64 ON NEW NH 44(OLD NH 1) DELHI-AMBALA ROAD RHS	SONIPAT	REGULAR	210	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
247	Between Village Butana and Village Barota on NH352A	SONIPAT	REGULAR	180	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
248	Village Chirsi on Jasna to Manjhawali Road, District Faridabad	FARIDABAD	RURAL	105	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
249	In Between Km Stone 49-51 on NH 334B LHS Kharkhoda to Sampla Road	ROHTAK	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
250	Village Barwasni on NH 352A	SONIPAT	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
251	Palwal Within Muncipal Limit, From Delhi to Mathura on NH2 (New NH 19)	PALWAL	REGULAR	240	OBC	DC	30	30	900	32	95	Draw of lots	15	4
252	Village Jhundsarai Viran on Gurugram -Pataudi Road (NH-352W)	GURUGRAM	REGULAR	240	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
253	Village Khawaspur on Gurugram -Pataudi Road (NH- 352W)	GURUGRAM	REGULAR	250	ОВС	DC	35	35	1225	32	95	Draw of lots	15	4
254	In between km stone no. 25 to 35 on NH 334 B Sonipat-Rohtak RHS	ROHTAK	REGULAR	160	ОВС	DC	35	35	1225	32	95	Draw of lots	15	4
255	Between Village Kathura and Chiri on SH16A	SONIPAT	REGULAR	150	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
256	VIILAGE - BIHALI ON ATELI-KHERI KHANTI ROAD	MAHENDRAGARH	RURAL	75	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
257	Village Bohara Kalan On Pataudi-Bilaspur Road	GURUGRAM	RURAL	195	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
258	Within Municipal Limits of Sohna town on Gurugram- Alwar Road (NH 248A)	GURUGRAM	REGULAR	195	SC	CFS	30	30	900	0	0	Draw of lots	0	3
259	VILLAGE RAGHUNATHPUR ON NANGAL TEJU- PRANPURA ROAD	REWARI	RURAL	60	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
260	Village Ghughera, NH 919(NH 71B), District Palwal	PALWAL	REGULAR	180	OPEN CC 1	DC	35	35	1225	32	95	Draw of lots	15	5
261	VILLAGE - MANDHANA ON NARNAUL- BEHROR ROAD	MAHENDRAGARH	RURAL	120	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
262	Any sector road of Sector 1-Sector 50	GURUGRAM	REGULAR	350	OBC	DC	20	20	400	32	75	Draw of lots	15	4
263	Village Khedi khumar on Charki Dadri-Jhajjar Road (New NH 334B)	JHAJJAR	REGULAR	160	OPEN	СС	35	35	1225	32	12	Bidding	30	5
264	VILLAGE NIZAMPUR ON BADAGAON-RAJOTA- NIZAMPUR ROAD	MAHENDRAGARH	RURAL	120	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
	VILLAGE DHOLERA ON NARNAUL-DHOLERA ROAD	MAHENDRAGARH	RURAL	115	OPEN CC 1	DC	35	35	1225	16	35	Draw of lots	5	4
266	From Saha Chowk to Shahabad on NH 444A on RHS, within Ambala District	AMBALA	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
267	VILLAGE RATA KALAN ON ATELI-KANINA ROAD	MAHENDRAGARH	RURAL	85	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
268	Anywhere on dividing road of sector 93 and sector 94	GURUGRAM	REGULAR	200	SC	CFS	20	20	400	0	0	Draw of lots	0	3

269	Dividing Road of Sector 27 and Sector 28	GURUGRAM	REGULAR	360	OPEN	СС	20	20	400	32	12	Bidding	30	5
	village chankothi on nagpur fatehabad road	FATEHABAD	RURAL	80	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
	Village Sancholi,on Sohna- Ballabhgarh Road	GURUGRAM	RURAL	120	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
272	Road Connecting SPR Road to Shikopur	GURUGRAM	REGULAR	250	OBC	DC	20	20	400	32	75	Draw of lots	15	4
273	VILLAGE KUTIANA ON JAMAL-GOGAMEDI ROAD	SIRSA	RURAL	105	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
	within 2km of Haryana Rajasthan border on Daiyar		NORAL	105	OFLIN		35	55		10	55	Draw of lots		-
274	Bambalwas (rajasthan) road	FATEHABAD	RURAL	75	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
275	BETWEEN VILLAGE JUNDLA AND VILLAGE CHIRAO ON NH 709A	KARNAL	REGULAR	180	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
276	BETWEEN KILOMETER STONE NO. 48 & 53 ON NH- 52, LHS FROM HISAR TOWARDS CHANDIGARH	JIND	REGULAR	160	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
277	JIND WML ON NH352	JIND	REGULAR	180	OBC	CC	30	30	900	32	12	Bidding	30	4
278	Km Stone 49 to 53, on SH 8, District Kaithal	KAITHAL	REGULAR	101	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
279	Within Municipal Limits of Farrukhnagar Town, (Not on SH/NH)	GURUGRAM	REGULAR	130	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
280	BETWEEN KM STONE NO. 16 AND 19, RHS ON NH- 148B (KOTPUTLI NARNAUL ROAD)	MAHENDRAGARH	REGULAR	255	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
281	Anywhere on dividing road of Sector 78 and Sector 79	GURUGRAM	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of lots	0	3
282	Anywhere on dividing road of Sector 62 and Sector 65	GURUGRAM	REGULAR	190	SC	CFS	20	20	400	0	0	Draw of lots	0	3
283	Anywhere on dividing road of sector 66 and sector 67	GURUGRAM	REGULAR	250	OPEN	DC	20	20	400	32	75	Draw of lots	15	5
284	Anywhere on dividing road of sector 91 and sector 92	GURUGRAM	REGULAR	150	OPEN	DC	20	20	400	32	75	Draw of lots	15	5
285	Between Km Stone 83 to 89 LHS Delhi-Mathrua Road ON NH-2(New NH-19)	PALWAL	REGULAR	170	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
286	Village Boraka, On Hodal-Punhana Road	PALWAL	RURAL	165	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
287	Village Ratipur On Palwal-Hathin Road	PALWAL	RURAL	100	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
288	Between Km Stone 67 to 72 LHS Delhi-Mathrua Road ON NH-2(New NH-19)	PALWAL	REGULAR	195	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
289	Between Km Stone 81 to 89 RHS Delhi-Mathrua Road ON NH-2(New NH-19)	PALWAL	REGULAR	195	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
290	Between Km Stone 90 to 93 LHS Delhi-Mathrua Road ON NH-2(New NH-19)	PALWAL	REGULAR	195	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
291	Between KM stone 48 to 56, RHS, Delhi-Mathrua Road ON NH-2(New NH-19)	PALWAL	REGULAR	210	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
292	Between Hardware Chowk to Pali Chowk, Faridabad City	FARIDABAD	REGULAR	200	OPEN	сс	20	20	400	32	12	Bidding	30	5
293	Between DPSG School,Sikri and Gadpuri Toll Plaza, EITHER SIDE,On NH-2(New NH19)	FARIDABAD	REGULAR	270	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
294	Between Badhkal Mod Metro Station & Ballabhgarh Metro Station either side on NH-2(New NH-19)	FARIDABAD	REGULAR	340	OBC	сс	20	20	400	32	12	Bidding	30	4
295	Village Sirohi On Sohna-Ballaghgarh Road	FARIDABAD	RURAL	60	OBC PH	DC	35	35	1225	16	35	Draw of lots	5	3
296	On Any Sector Road of Sector 86	FARIDABAD	REGULAR	290	OBC	CC	20	20	400	32	12	Bidding	30	4
297	On any sector Road of Sector 79	FARIDABAD	REGULAR	350	SC	CFS	20	20	400	0	0	Draw of lots	0	3
298	Village Utoon, Utoon to Rathiwas Road	NUH	RURAL	190	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4

299	Between Km Stone 42 to 46 on Gurgaon Alwar Road, NH248A	NUH	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
300	Between km stone 61 to 63, LHS,on Gurgaon to Alwar Road, NH248A	NUH	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
301	Village Malai, 3 km from Govt Polytechnic College ,On Hodal- Nuh Road	NUH	RURAL	65	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
302	Within 5 km of Badkali Chowk towards Alwar on Gurgaon- Alwar Highway, NH248A	NUH	REGULAR	190	OPEN CC 1	DC	35	35	1225	32	95	Draw of lots	15	5
303	Village Punhana on Punhana-Jamalgarh road	NUH	RURAL	175	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
304	Village Gulalta, On Shikrawa-Punhana Road, Dist Mewat	NUH	RURAL	155	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
305	VILLAGE GUDHA ON SH-24 ( KANINA- MAHENDERGARH ROAD)	MAHENDRAGARH	REGULAR	120	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
306	VILLAGE BUCHAWAS ON SH-24 (KANINA - MAHENDERGARH ROAD)	MAHENDRAGARH	REGULAR	120	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
307	Village Bhangrola on Road connecting Multi utility corridor Road to Pataudi Road , Manesar	GURUGRAM	REGULAR	255	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
308	WITHIN MUNICIPAL LIMIT OF KANINA ON KANINA - ATELI ROAD	MAHENDRAGARH	REGULAR	100	OBC	DC	20	20	400	32	55	Draw of lots	15	4
309	Anywhere on dividing road of sector 82 and sector 85	GURUGRAM	REGULAR	200	SC	CFS	20	20	400	0	0	Draw of lots	0	3
310	Anywhere on dividing road of sector 85 and sector 89	GURUGRAM	REGULAR	210	OBC	DC	20	20	400	32	75	Draw of lots	15	4
311	Village Sadrana on Garhi-Budhera road	GURUGRAM	RURAL	100	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
312	Village Hayatpur,Sector 89 on Gurugram Pataudi Road(NH 352W)	GURUGRAM	REGULAR	220	OPEN	DC	20	20	400	32	75	Draw of lots	15	5
313	BETWEEN KM STONE 420 AND 430, RHS ON NH-352 ( JHAJJAR - REWARI ROAD)	REWARI	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
314	Between Km Stone 9 and Km Stone 15,on Gurugram - Faridabad Road	GURUGRAM	REGULAR	200	SC CC 1	CFS	20	20	400	0	0	Draw of lots	0	3
315	Within 5 kms of Vatika Chowk on Southern Peripheral Road, District Gurugram	GURUGRAM	REGULAR	250	OPEN	DC	20	20	400	32	75	Draw of lots	15	5
316	Within 10 kms of Vatika chowk on Golf Course Extension Road	GURUGRAM	REGULAR	230	SC	CFS	20	20	400	0	0	Draw of lots	0	3
317	BETWEEN KM STONE NO. 5 AND 9, LHS ON NH-148B (KOTPUTLI-NARNAUL ROAD)	MAHENDRAGARH	REGULAR	255	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
318	Anywhere on dividing road of sector 92 and sector 95	GURUGRAM	REGULAR	150	OBC	DC	20	20	400	32	75	Draw of lots	15	4
319	BETWEEN KM STONE NO. 74 AND 77, LHS ON NH-8 (NEW NH-48), DELHI- JAIPUR ROAD	REWARI	REGULAR	170	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
320	Anywhere on dividing road of sector 114 and sector 115	GURUGRAM	REGULAR	200	OPEN	DC	20	20	400	32	75	Draw of lots	15	5
321	Anywhere on dividing road of sector 61 and sector 62	GURUGRAM	REGULAR	210	OPEN	СС	20	20	400	32	12	Bidding	30	5
322	Anywhere on dividing road of sector 62 and sector 63	GURUGRAM	REGULAR	250	OPEN	СС	20	20	400	32	12	Bidding	30	5
323	Any Sector Road of Sector 71	GURUGRAM	REGULAR	190	OPEN	DC	20	20	400	32	75	Draw of lots	15	5
324	Any Sector Road of Sector 73	GURUGRAM	REGULAR	200	SC	CFS	20	20	400	0	0	Draw of lots	0	3

325	Anywhere on dividing road of sector 78 and sector 80	GURUGRAM	REGULAR	170	OBC	DC	20	20	400	32	75	Draw of lots	15	4
326	Anywhere on dividing road of sector 82A and sector 83	GURUGRAM	REGULAR	190	OPEN	DC	20	20	400	32	75	Draw of lots	15	5
327	Anywhere on dividing road of sector 101 and sector 104	GURUGRAM	REGULAR	160	OPEN	DC	20	20	400	32	75	Draw of lots	15	5
328	Anywhere on dividing road of sector 85 and sector 86	GURUGRAM	REGULAR	180	OPEN	DC	20	20	400	32	75	Draw of lots	15	5
329	Within 2 km of pataudi chowk, on any road	GURUGRAM	REGULAR	210	OBC	DC	20	20	400	32	75	Draw of lots	15	4
330	From Khedki Daula Toll Plaza to Panchgaon, LHS, on NH48 (Old NH 08), Delhi -Jaipur Road	GURUGRAM	REGULAR	240	ОВС	DC	35	35	1225	32	95	Draw of lots	15	4
331	From Khedki Daula Toll Plaza to Panchgaon, RHS, on NH48 (Old NH 08), Delhi -Jaipur Road	GURUGRAM	REGULAR	210	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
332	Panchgaon to Khapriwas, LHS,on NH48 (Old NH 08), Delhi -Jaipur Road, District Gurugram	GURUGRAM	REGULAR	235	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
333	Panchgaon to Khapriwas, RHS,on NH48 (Old NH 08), Delhi -Jaipur Road,District Gurugram	GURUGRAM	REGULAR	215	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
334	Within Nuh Muncipal Limit, On Nuh-Mandkola road	NUH	REGULAR	120	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
335	Within 2.5km from Shah Satnam Chowk towards kagdana on Sirsa-Bhadra Road (WML of Sirsa)	SIRSA	REGULAR	120	SC	CFS	20	20	400	0	0	Draw of lots	0	3
336	Within Municipal Limits of Sirsa on NH-703 (LHS) from Sirsa to Sardulgarh	SIRSA	REGULAR	150	SC	CFS	30	30	900	0	0	Draw of lots	0	3
337	BETWEEN KM STONE NO. 81 AND 83, RHS ON NH-8 (NEW NH-48), DELHI- JAIPUR ROAD	REWARI	REGULAR	375	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
338	BETWEEN BHIWADI MOD TO DWARKADISH SOCIETY, LHS ON 75 MTR ROAD, TOWARDS DWARKADISH SOCIETY	REWARI	RURAL	140	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
339	WITHIN MUNICIPAL LIMIT OF DHARUHERA ON BHAGAT SINGH CHOWK TO NANDRAMPUR BASS ROAD	REWARI	REGULAR	150	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
340	VILLAGE CHANDPUR ON REWARI-BAWAL ROAD	REWARI	RURAL	120	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
341	WITHIN MUNICIPAL LIMIT OF BAWAL ON BAWAL TO TIHARA ROAD	REWARI	REGULAR	120	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
342	BETWEEN KM STONE NO. 15 AND 21 (NEW STONE NO. 1 AND 7), LHS ON NH-11	REWARI	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
343	Between KM stone 134 and 139 on NH 09, HISAR - ROHTAK LHS	HISAR	REGULAR	150	OBC CC 1	DC	35	35	1225	32	95	Draw of lots	15	4
344	Within 5 KM from Surewala Chowk on NH 52	HISAR	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	Draw of lots	0	3
345	BETWEEN KM STONE 158 AND 164 ON NH 52, HISAR - RAJGARH ROAD LHS	BHIWANI	REGULAR	197	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
346	BETWEEN KM STONE 156 AND 162 ON NH 52, HISAR - RAJGARH ROAD RHS	BHIWANI	REGULAR	197	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
347	Between KM stone 142 and 148 on NH 52, HISAR - RAJGARH Road RHS	BHIWANI	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
348	WITHIN 6 KM FROM INDRI BUS STAND TOWARDS LADWA ON SH 7	KARNAL	REGULAR	120	SC PH	CFS	35	35	1225	0	0	Draw of lots	0	3
349	Between KM stone 143 and 150 on NH 52, HISAR - RAJGARH Road LHS	BHIWANI	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5

r		1					1	1			1	1	· · · · ·	1
350	Between KM Stone 13 and 20 on Bhiwani-Rohtak Road RHS on NH709(E)	BHIWANI	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
351	NILOKHERI WML (NOT ON NH/SH)	KARNAL	REGULAR	140	SC PH	CFS	20	20	400	0	0	Draw of lots	0	3
352	Between KM Stone 14 and 18 on Bhiwani-Rohtak Road LHS on NH709(E)	BHIWANI	REGULAR	160	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
353	BETWEEN KM STONE NO. 69 AND 78 (NEW STONE NO. 1 AND 10), LHS ON NH-11	MAHENDRAGARH	REGULAR	170	OPEN CC 1	DC	35	35	1225	32	95	Draw of lots	15	5
354	Bhiwani WML, on NH 709E	BHIWANI	REGULAR	160	OPEN CC 1	DC	30	30	900	32	95	Draw of lots	15	5
355	BETWEEN KM STONE NO. 69 AND 78 (NEW STONE NO. 1 AND 10), RHS ON NH-11	MAHENDRAGARH	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
356	VILLAGE KIWANA	PANIPAT	RURAL	80	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
357	Village Mirchpur on SH 10	HISAR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
358	Between KM stone 134 and 152 on NH 09, HISAR - ROHTAK RHS	HISAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
359	Village Chang on SH 16 A	BHIWANI	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
360	BETWEEN KM STONE NO. 86 & 92 ON NH 709A	JIND	REGULAR	180	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
361	VILLAGE JALALPUR-II, TEHSIL BAPOLI	PANIPAT	RURAL	80	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
362	WITHIN MUNICIPAL LIMIT NARWANA (NOT ON NH/SH)	JIND	REGULAR	120	OBC	DC	20	20	400	32	55	Draw of lots	15	4
363	Village Rehroda Kalan on NH 334B	CHARKHI DADRI	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
364	VILLAGE MANAK MAJRA, TEHSIL NILOKHERI ON NH- 44, LHS (DELHI-AMBALA)	KARNAL	REGULAR	180	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
365	BETWEEN VILLAGE KINANA AND JAI JAIWANTI ON NH352, LHS FROM JIND TO JULANA	JIND	REGULAR	180	OBC PH	DC	35	35	1225	32	95	Draw of lots	15	4
366	VILLAGE KARHANS ON NH 44, LHS FROM PANIPAT TOWAORDS SAMALKHA	PANIPAT	REGULAR	160	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
367	Between KM stone 157 and 164 on NH 09, HISAR - ROHTAK	HISAR	REGULAR	150	OBC CC 1	DC	35	35	1225	32	95	Draw of lots	15	4
368	Between KM stone 169 and 178 on NH 09, HISAR - ROHTAK ROAD	HISAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
369	VILLAGE- KAPRIWAS ON LOKRI- KAPRIWAS ROAD	REWARI	RURAL	60	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
370	ANYWHERE IN BETWEEN MODERN PUBLIC SCHOOL TO BHIWADI CHOWK, LHS ON NH-919	REWARI	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
371	BETWEEN RAO ABHEY SINGH CHOWK TO INTERSECTION AT NH352 FLYOVER ON NH919	REWARI	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
372	BETWEEN RAO ABHEY SINGH CHOWK TO RAILWAY CROSSING ON REWARI BYPASS ROAD, REWARI WML	REWARI	REGULAR	120	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
373	Between KM stone 122 and 126 on SH 10	HISAR	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
374	Between KM stone 108 and 113 on SH 10, Agroha - Adampur Road	HISAR	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
375	ADAMPUR WML (NOT ON SH)	HISAR	REGULAR	100	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
376	Village Bass Badshahpur on Mundhal - Jind Road	HISAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
377	FROM SHAHZADPUR TO NARAINGARH ON RHS ON NH 7	AMBALA	REGULAR	155	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
378	Between Village Bawani Khera Rural and Village Lohari Jatu on NH 148B	BHIWANI	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
379	FROM MAULI TO SHAHZADPUR ON NH7 ON LHS WITHIN AMBALA DIST. LIMIT	AMBALA	REGULAR	152	OBC	DC	35	35	1225	32	95	Draw of lots	15	4

380	Village Kasni Kalan on SH 12	BHIWANI	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
381	From Kharak pandwa to Narwana on RHS, On NH 152, within Kaithal district limits	KAITHAL	REGULAR	155	OBC	СС	35	35	1225	32	12	Bidding	30	4
382	From Kharak Pandwa to Narwana on LHS, On NH 152, within Kaithal district limits	KAITHAL	REGULAR	160	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
383	Bhiwani WML, on NH 709 A	BHIWANI	REGULAR	160	OPEN CC 1	DC	30	30	900	32	95	Draw of lots	15	5
	Within 2 km from Guru Brahmanand Chowk towards Kaithal on SH 8, RHS	KAITHAL	REGULAR	102	OBC PH	DC	35	35	1225	32	75	Draw of lots	15	4
385	From Kaithal to Khanauri Road within Kaithal District limits	KAITHAL	REGULAR	152	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
386	From Majri chowk, Panchkula to Jalauli toll on NH7 on LHS	PANCHKULA	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
387	Surajpur to Sukhomajri on Pinjore Byepass on LHS, District Panchkula	PANCHKULA	REGULAR	162	OBC CC 1	СС	35	35	1225	32	12	Bidding	30	4
388	Surajpur to Sukhomajri on Pinjore Byepass on RHS, District Panchkula	PANCHKULA	REGULAR	160	OBC	СС	35	35	1225	32	12	Bidding	30	4
389	Kalka WML, District Panchkula	PANCHKULA	REGULAR	102	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
390	HANSI WML, Between Hansi Sub division Court and ITI Hansi	HISAR	REGULAR	110	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
391	Chandimandir to Parwanoo on NH 5, District Panchkula	PANCHKULA	REGULAR	160	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
392	HANSI WML, ON NH 148B	HISAR	REGULAR	150	OPEN	DC	30	30	900	32	95	Draw of lots	15	5
393	From Ramgarh to Jalauli toll on NH7	PANCHKULA	REGULAR	155	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
394	FROM JALAULI TOLL TO BAGWALI ON RHS ON NH7	PANCHKULA	REGULAR	152	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
395	From Pinjore to Nawanagar, On LHS on NH 105 within Panchkula district	PANCHKULA	REGULAR	152	OPEN CC 2	DC	35	35	1225	32	95	Draw of lots	15	5
396	On New Kala Amb-Ambala Highway, from Shahzadpur towards Ambala on LHS, Ambala	AMBALA	REGULAR	152	OBC	СС	35	35	1225	32	12	Bidding	30	4
39/	On New Kala Amb-Ambala Highway, from Shahzadpur towards Ambala on RHS, Ambala	AMBALA	REGULAR	162	OPEN	СС	35	35	1225	32	12	Bidding	30	5
398	From NH 152 to NH 344, on New Proposed Ambala Ring Road	AMBALA	REGULAR	155	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
399	From NH 344 to NH 444A, on New Proposed Ambala Ring Road	AMBALA	REGULAR	160	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
400	Between Village Bhatla and Village Hansi Rural on NH148B	HISAR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
1 /01	WITHIN 5 KM OF AADHAR HOSPITAL ON HISAR SOUTHERN BYPASS ROAD, HISAR WML	HISAR	REGULAR	100	OPEN CC 2	DC	20	20	400	32	55	Draw of lots	15	5
402	Between Fawara Chowk and Vidya Bharati Public School on Hisar - Rajgarh Road, Hisar WML	HISAR	REGULAR	100	OPEN CC 1	DC	20	20	400	32	55	Draw of lots	15	5
	VILLAGE RAJTHAL ON SH-12	HISAR	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
404	Village Sheikhpura on SH 12, Hansi - Jind Road	HISAR	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
	Within 5 Km from Landhari toll on NH 09, Sirsa - Hisar Road	HISAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
406	BETWEEN Village Muklan And Toll Plaza Chaudhariwas on NH 52	HISAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
407	Between KM stone 64 and 68 on NH 52, Hisar - Kaithal Road LHS	HISAR	REGULAR	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5

r		1	, ,					1				1	1	
408	Between KM stone 60 and 62 on NH 52, Hisar - Kaithal Road RHS	HISAR	REGULAR	150	OPEN	CC	35	35	1225	32	12	Bidding	30	5
409	VILLAGE KHERA TEHSIL INDRI	KARNAL	RURAL	80	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
410	VILLAGE DABLAIN	JIND	RURAL	70	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
411	Within 3 KM from KESHAV COLLEGE OF EDUCATION on KOHAND - ASSANDH Road	KARNAL	RURAL	70	OBC CC 1	DC	35	35	1225	16	35	Draw of lots	5	3
412	VILLAGE GONDAR, BLOCK NISSING	KARNAL	RURAL	80	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
413	VILLAGE CHHAJPUR KHURD ON SANOLI ROAD	PANIPAT	RURAL	60	OPEN CC 1	DC	35	35	1225	16	35	Draw of lots	5	4
414	IN BETWEEN VILLAGE KARKHANA TO HATT ON HATT ROAD	JIND	RURAL	70	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
415	VILLAGE DHATHRATH	JIND	RURAL	80	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
416	Between Badopatti Toll Plaza and Village Barwala Rural on NH 52, including Village Barwala Rural	HISAR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
417	Between intersection of (NH 09 and NH 52 at Dhandhoor ) and Dhaba@52 on NH 52	HISAR	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
418	Between Village Barwala and Village Singhwa Ragho on Barwala - Hansi Road, NH 148B	HISAR	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
419	VILLAGE SALWAN ON ASSANDH PANIPAT ROAD	KARNAL	RURAL	80	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
420	IN BETWEEN KM STONE 54-58 ON NH 09 ROHTAK DELHI ROAD LHS,District Rohtak	ROHTAK	REGULAR	160	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
421	Between Village Barwala Rural and Village Gaibipur on NH 52, Hisar - Kaithal Road RHS	HISAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
422	Within 5 km from Marvel city Towards Badopaatti Toll Plaza on Hisar-Kaithal Road RHS on NH-52	HISAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
423	Within 5 KMS from Marvel city Towards Badopaatti Toll Plaza on Hisar-Kaithal Road LHS on NH-52	HISAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
424	Between Village Leghan Hetwan and Village Lohani on Devrala - Kairu - Lohani Road	BHIWANI	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
425	IN BETWEEN KM STONE 115-119 ON NH-09 DELHI ROHTAK ROAD RHS	ROHTAK	REGULAR	160	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
426	Between Village Pahladgarh and Village Kitlana on NH 148 B	BHIWANI	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	Draw of lots	0	3
427	Between Village Jui Khurd and Village Pohkarwas on NH 709(E)	BHIWANI	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
428	Village Bahu Akberpur on NH09 (Hisar - Delhi Road)	ROHTAK	REGULAR	255	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
429	IN BETWEEN KM STONE 93-99 KALANAUR ROHTAK ROAD RHS NH 709	ROHTAK	REGULAR	195	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
430	Between Village Simli and Village Karauntha on Rohtak Jhajjar Road NH 352	ROHTAK	REGULAR	155	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
431	On NH Connecting Road, Connecting NH 09 at Shyam Temple Bahu Akbarpur to NH352 Rohtak Jind road	ROHTAK	REGULAR	240	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
432	Within 5 km from Madina Toll plaza on NH09	ROHTAK	REGULAR	180	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
433	From Aurangabad towards Saharanpur, within Yamunanagar District Limits, LHS on NH 344	YAMUNANAGAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
434	IN BETWEEN KM STONE 61-65 ON NH-09 ROHTAK- DELHI LHS	ROHTAK	REGULAR	240	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5

435	Within 2 km from Malakpur Bus Stand	KURUKSHETRA	RURAL	60	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
	IN BETWEEN KM STONE 93-97 ON NH-09 HISAR- ROHTAK LHS	ROHTAK	REGULAR	240	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
437	WITHIN MUNICIPAL LIMIT ASANDH (NOT ON NH/SH)	KARNAL	REGULAR	125	ОВС	DC	20	20	400	32	55	Draw of lots	15	4
	From Chintpur to Pirthipur, Tehsil: Bilaspur	YAMUNANAGAR	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
	Village Alahar, Tehsil Jagadhri	YAMUNANAGAR	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
440	From Todarpur to Khajuri on khajuri Yamunanagar road	YAMUNANAGAR	RURAL	75	OPEN CC 1	DC	35	35	1225	16	35	Draw of lots	5	4
441	from kurukshetra university Gate 3 to Kamoda, LHS on Kurukshetra to Dhand Road	KURUKSHETRA	RURAL	70	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
442	From Shahbad to Rava, RHS on SH 04	KURUKSHETRA	REGULAR	110	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
443	From Fountain chowk towards Jagadhri workshop, on railway workshop road	YAMUNANAGAR	REGULAR	150	OBC	DC	20	20	400	32	55	Draw of lots	15	4
444	From Buria Chowk to Mukarampur, Tehsil: Jagadhri	YAMUNANAGAR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of lots	0	3
445	From Radaur to Damla, LHS on SH-06	YAMUNANAGAR	REGULAR	120	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
446	From Chuhadpur Khurad to Riyanwala, on new Jagadhri to Tajewala road	YAMUNANAGAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
447	From Ladwa to Badarpur, on Hinori road within Ladwa municipal limit	KURUKSHETRA	REGULAR	150	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
448	From Pipli towards Karnal, RHS NH 44	KURUKSHETRA	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
449	Within 5 KM from NH152 Flyover towards Pehowa on SH 06	KURUKSHETRA	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
450	From Sadhaura to Sarawan, on SH-04 within Yamuna nagar district	YAMUNANAGAR	REGULAR	100	SC CC 1	CFS	35	35	1225	0	0	Draw of lots	0	3
451	From Manakpur to Chhachhrauli on NH 907	YAMUNANAGAR	REGULAR	150	OPEN	CC	35	35	1225	32	12	Bidding	30	5
452	From Babain to Kharindwa on SH 07	KURUKSHETRA	REGULAR	100	SC PH	CFS	35	35	1225	0	0	Draw of lots	0	3
453	Within 3 km from Triveni Chowk,Radaur towards Ladwa on SH-06	YAMUNANAGAR	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
454	Within 2KM FROM Chaudhary Bansilal Government College Loharu on NH 709E	BHIWANI	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
455	BETWEEN VILLAGE GHIMANA & IGRA ON NH 709A	JIND	REGULAR	180	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
456	BETWEEN VILLAGE JAMALPUR AND TOSHAM RURAL ON SH-12	BHIWANI	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
457	IN BETWEEN MILESTONE 20 - 24 ON SH8 (NISSING - KARNAL ROAD)	KARNAL	REGULAR	120	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
458	Village Tosham ( Rural ) ON New Tosham Bypass Road	BHIWANI	RURAL	60	OPEN CC 1	DC	35	35	1225	16	35	Draw of lots	5	4
459	Village Ranila	CHARKHI DADRI	RURAL	70	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
460	Between Village Berla and Village Jewali on Jhojhu kalan - Badhra road	CHARKHI DADRI	RURAL	55	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
461	Village Kirawar	BHIWANI	RURAL	60	OPEN CC 2	DC	35	35	1225	16	35	Draw of lots	5	4
462	Village Umra	HISAR	RURAL	70	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
463	Within 5 km of village Bhodia Khera Bishnoian on Bhattu Mandi - Khara Kheri Road	HISAR	RURAL	55	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
464	Within 2 KM from Village Sarsana on Chaudhariwas - Balsamand Road	HISAR	RURAL	70	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4

465 DELHI   466 IN BET   KALAN KALAN   467 Betwee   468 In Betwee   469 With in   VH 35: 470	HI ROAD RHS ETWEEN KM STONE 93-99 ON NH-709, LHS ON ANAUR TO ROHTAK veen KM stone 30-40 on NH 709 etween Km Stone 52 -62 on NH709 Panipat	ROHTAK ROHTAK ROHTAK	REGULAR	235	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
466 KALAN   467 Betwee   468 In Betwee   468 With in   469 With in   469 NH 352   470 VILLAGE	ANAUR TO ROHTAK veen KM stone 30-40 on NH 709 etween Km Stone 52 -62 on NH709 Panipat		REGULAR											<b></b>
468 In Betv Rohtal 469 With ir NH 35 470 VILLAG	etween Km Stone 52 -62 on NH709 Panipat	DOUTAK		190	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
468 Rohtal 469 With ir NH 35. 470 VILLAG		RUHTAK	REGULAR	155	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
469 NH 352 470 VILLAG	lakildau	ROHTAK	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
	n in 10 KM of Delhi Public School towards Jind on 352 Rohtak Jind Road	ROHTAK	REGULAR	160	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
471 100000	AGE BHAIYAN PUR ON NH352	ROHTAK	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	Draw of lots	0	3
471 VILLAG	AGE ISMAILA 9-B ON NH09	ROHTAK	REGULAR	240	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
472 Village	ge Bhagotipur on NH352 (Rohtak-Jind Road)	ROHTAK	REGULAR	170	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
4/3	either side Between village Kansala to village nayunpur on SH18,District- Rohtak	ROHTAK	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
474 VILLAG	AGE ASAN ON SONIPAT-ROHTAK ROAD (SH18)	ROHTAK	REGULAR	150	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
475 Village	ge Bhalot on Sonipat-Rohtak Road (SH18)	ROHTAK	REGULAR	120	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
4/6	WEEN SUKHPURA CHOWK AND JIND BYEPASS WK ROHTAK	ROHTAK	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of lots	0	3
4//	etween Sheela Bypass chowk and Rajiv Chowk Delhi Road, Rohtak	ROHTAK	REGULAR	150	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
478 Mehar	nam WML (Not on NH/SH)	ROHTAK	REGULAR	150	OPEN CC 1	DC	20	20	400	32	55	Draw of lots	15	5
4/9	H IN 2 KM FROM NEW BUS STAND TOWARDS HPURA CHOWK	ROHTAK	REGULAR	145	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
480 Village	ge Banbhori	HISAR	RURAL	60	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
481 Village	ge Kapro	HISAR	RURAL	60	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
487	veen Village Chikanwas and Village Asranwan on mpur Road, including both villages	HISAR	RURAL	70	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
· · · · · ·		HISAR	RURAL	80	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
484	ETWEEN MILESTONE 15-17 ON SH8 (NISSING - NAL ROAD)	KARNAL	REGULAR	120	OPEN CC 1	DC	35	35	1225	32	75	Draw of lots	15	5
		CHARKHI DADRI	RURAL	55	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
		CHARKHI DADRI	RURAL	50	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
487	veen Village Kaimri and Village Mangali on nri - Mangali Road	HISAR	RURAL	85	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
488 Betwe	veen Village Rajana & Jamni on SH 14	JIND	REGULAR	120	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
489 Village	ge Biran	BHIWANI	RURAL	75	OPEN CC 1	DC	35	35	1225	16	35	Draw of lots	5	4
·	•	BHIWANI	RURAL	70	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
491 ANYW	WHERE IN KARNAL WML (NOT ON NH/SH)	KARNAL	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of lots	0	3
492	L KARNAL (IN BETWEEN HANSI CHOWK- GHRIPUR RAILWAY CROSSING)	KARNAL	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of lots	0	3
493	veen Village Dhanana and Village Badesra on nana - Badesra Road	BHIWANI	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
		JIND	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of lots	0	3
495	WEEN LIBERTY CHOWK TO ITI CHOWK ON NH- HS AMBALA -DELHI	KARNAL	REGULAR	180	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
496	WEEN VILLAGE LUDANA & LALIT KHERA ON NH A, DISTRICT JIND	JIND	REGULAR	180	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
		HISAR	RURAL	45	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4

498	BETWEEN KM STONE NO. 97 & 101 ON NH 709A	KARNAL	REGULAR	160	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
499	Village Barsi	BHIWANI	RURAL	45	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
500	Village Devsar	BHIWANI	RURAL	70	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
	VILLAGE MOHANA ON NH352A	SONIPAT	REGULAR	190	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
	Village Bapora	BHIWANI	RURAL	45	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
503	IN BETWEEN KM STONE 51-55 ON NH-44 (OLD NH- 01) DELHI AMBALA RHS	SONIPAT	REGULAR	620	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
	IN BETWEEN KM STONE 34-40 ON NH 44 (OLD NH-1) DELHI-AMBALA ROAD RHS	SONIPAT	REGULAR	600	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
505	Between Village Sungarpur and Village Kharkhri Sohan on Kharkhri Sohan - Dulheri - Kairu Road	BHIWANI	RURAL	55	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
506	Village Pur	BHIWANI	RURAL	80	SC CC 1	CFS	35	35	1225	0	0	Draw of lots	0	2
	Between Village Jhojhu Kalan and Post Office Adampur Dadhi on Jhojhu Kalan - Adampur Dadhi Road	CHARKHI DADRI	RURAL	95	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
508	Village Narnaund on Narnaund - Khanda Kheri Road	HISAR	RURAL	55	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
509	Village Harsana Kalan on NH-334B, LHS on Kharkhoda to Meerut	SONIPAT	REGULAR	200	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
510	Between Village Bhojraj and Village Kanwari on Hisar - Khanak - Tosham Road	HISAR	RURAL	75	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
511	Village Harsana Kalan on NH-334B, RHS on Kharkhoda to Meerut	SONIPAT	REGULAR	185	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
512	Between Village Bhainswan Khurd and Village Mahra on NH709	SONIPAT	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
513	IN BETWEEN KM STONE 29-39 ON NEW NH 44(OLD NH 1) DELHI-AMBALA ROAD RHS	SONIPAT	REGULAR	350	OPEN	сс	35	35	1225	32	12	Bidding	30	5
514	Between km stone no. 58 and 68 on NH352A (Jind- Sonepat Road) RHS	SONIPAT	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
515	Between HAU Balsamand and Haryana- RajasthanBorder on Bhadra-Balsamand Road, Balsamand to Bhadra LHS	HISAR	RURAL	115	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
516	Between Village Bhariwas and Village Ladawas on Jui Khurd - Bhadra Road	CHARKHI DADRI	RURAL	60	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
517	VILLAGE NEWAL ON SH-8	KARNAL	REGULAR	120	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
	Village Pegan on SH 11A	JIND	REGULAR	110	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
519	VILLAGE ANTA, ON SH14	JIND	REGULAR	120	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
520	Between Village Dahar and Village Israna on NH 709 LHS from Panipat towards Rohtak	PANIPAT	REGULAR	180	SC CC 1	CFS	35	35	1225	0	0	Draw of lots	0	3
521	BETWEEN VILLAGE SEEDPUR & KARSADOD ON SH33	KARNAL	REGULAR	120	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
522	BETWEEN KM STONE 60-65 ON NH-44, LHS FROM DELHI TO KARNAL	PANIPAT	REGULAR	180	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
523	ANYWHERE IN OLD INDUSTRIAL AREA ON KABRI ROAD, WITHIN MUNICIPAL LIMIT PANIPAT	PANIPAT	REGULAR	150	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
5/4	Between Village Uklana rural and Shiva Grand Banquet Hall on SH 2, Uklana - Fatehabad LHS	HISAR	REGULAR	120	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
525	SIWANI WML (NOT ON NH/SH)	BHIWANI	REGULAR	160	OPEN	DC	20	20	400	32	55	Draw of lots	15	5

		1	· · · ·									1		
526	VILLAGE SITHANA ON ROAD CONNECTING LOHA PUL AND INDIAN SYNTHETIC RUBBER PVT. LTD.	PANIPAT	RURAL	150	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
527	Between Village Sudhiwas and Village Behal on SH12	BHIWANI	REGULAR	165	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
528	WITHIN MUNICIPAL LIMIT PANIPAT, ON SHAHID BHAGAT SINGH ROAD	PANIPAT	REGULAR	150	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
529	Within 5 km from Sanjay Chowk towards Jatal on Jatal Road	PANIPAT	REGULAR	120	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
530	Between km stone no. 200 and 205 on NH 334B, Charkhi Dadri - Loharu road	CHARKHI DADRI	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
531	WITHIN 3 KM FROM NH44 INTERSECTION WITH BARSAT ROAD TOWARDS AZIZULLAPUR, ON BARSAT ROAD	PANIPAT	REGULAR	120	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
532	Village Tigra, On Firozpur Jhirka- Biwan Road	NUH	RURAL	80	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
533	WITHIN MUNICIPAL LIMIT PANIPAT, LHS FROM SANJAY CHOWK TOWARDS DELHI	PANIPAT	REGULAR	150	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
534	Between intersection of (NH 334B and SH 24 loharu satnali road) and Bisalwas Toll on NH 334B	BHIWANI	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
535	WITHIN MUNICIPAL LIMIT OF SAFIDON (NOT ON NH/SH)	JIND	REGULAR	140	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
536	VILLAGE BARSANA ON NH334B	CHARKHI DADRI	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	Draw of lots	0	3
537	UCHANA WML (NOT ON NH)	JIND	REGULAR	120	SC	CFS	20	20	400	0	0	Draw of lots	0	3
538	JIND WML (NOT ON NH/SH)	JIND	REGULAR	140	OPEN	CC	20	20	400	32	12	Bidding	30	5
539	WITHIN 2 KM of Village Badhwana on Dadri - Mahendergarh Road	CHARKHI DADRI	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
540	BETWEEN VILLAGE PUNDRAK AND VILLAGE SAGA ON SH-9	KARNAL	REGULAR	110	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
541	Between Village Kalyana and Village Ghasola, On NH 148B	CHARKHI DADRI	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
542	Hisar City WML (8 KM From Parav Chowk towards Village Raipur on Raipur Road)	HISAR	REGULAR	110	OPEN CC 1	DC	20	20	400	32	55	Draw of lots	15	5
543	Village Kuleri	HISAR	RURAL	50	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
544	BETWEEN VILLAGE JHANJ KHURD & UCHANA KALAN ON NH 352	JIND	REGULAR	180	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
545	VILLAGE HATHO ON NH-152	JIND	REGULAR	180	OPEN CC 1	DC	35	35	1225	32	95	Draw of lots	15	5
546	BETWEEN VILLAGE JAL PAHAR & JANBHA ON NH 709AD, LHS FROM UJAH TOWARDS JANBHA	PANIPAT	REGULAR	180	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
547	VILLAGE BAROLI, ON NH 352	JIND	REGULAR	200	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
548	BETWEEN VILLAGE JAL PAHAR & JANBHA ON NH 709AD, RHS FROM UJAH TOWARDS JANBHA	PANIPAT	REGULAR	180	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
549	BETWEEN VILLAGE NIRJAN AND TALODA ON SH 14	JIND	REGULAR	120	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
550	Sector 6&7 Panipat	PANIPAT	REGULAR	120	SC	CFS	20	20	400	0	0	Draw of lots	0	3
551	VILLAGE DAUHLA (NOT ON SH)	JIND	RURAL	85	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
552	Between Village Brahman Majra and Village Alupur on Brahman Manjra-Bhaupur-Alupur Road	PANIPAT	RURAL	75	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
553	Village Kalwa	JIND	RURAL	80	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
554	WITHIN MUNICIPAL LIMIT KARNAL ON MDR 115	KARNAL	REGULAR	110	SC	CFS	20	20	400	0	0	Draw of lots	0	3

555	VILLAGE KARSINDHU	DUIL	RURAL	75	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
556	VILLAGE GHEER (NOT ON SH)	KARNAL	RURAL	75	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
557		KARNAL	RURAL	75	OBC PH	DC	35	35	1225	16	35	Draw of lots	5	3
	VILLAGE HAR SINGH PURA	KARNAL	RURAL			DC	35	35	1225	16	35	Draw of lots	5	3
558	VILLAGE MUNAK, BLOCK GHARAUNDA	KARNAL	RURAL	75	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
559	BETWEEN VILLAGE BADARPUR AND CHOGAWAN ON YAMUNA NAGAR ROAD, DISTRICT KARNAL	KARNAL	RURAL	60	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
560	IN BETWEEN KM STONE 29-39 ON NEW NH 44(OLD NH 1) DELHI-AMBALA ROAD LHS	SONIPAT	REGULAR	210	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
561	Sonipat (within municipal limit) on Atlas Road	SONIPAT	REGULAR	175	SC	CFS	20	20	400	0	0	Draw of lots	0	3
562	Ganaur Within Municipal Limit (Not on NH/SH)	SONIPAT	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of lots	0	3
563	Kharkhoda WML (Not on NH/SH)	SONIPAT	REGULAR	190	SC	CFS	20	20	400	0	0	Draw of lots	0	3
564	Gohana (Within Municipal Limit) on Rohtak Road	SONIPAT	REGULAR	150	Open PH	DC	20	20	400	32	55	Draw of lots	15	5
565	Sonipat (within municipal limit) on Gohana Road	SONIPAT	REGULAR	190	OBC CC 1	DC	20	20	400	32	55	Draw of lots	15	4
566	Village Kamalpur	KARNAL	RURAL	80	Open PH	DC	35	35	1225	16	35	Draw of lots	5	4
567	Between Village Rohat and Shahjahanpur on SH20	SONIPAT	REGULAR	165	OPEN CC 1	DC	35	35	1225	32	75	Draw of lots	15	5
568	IN BETWEEN KM STONE 72-85 ON NH-09 DELHI ROHTAK ROAD LHS	ROHTAK	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
569	Village Garh Sanrai on Barana Road District Panipat	PANIPAT	RURAL	80	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
570	From Ismailabad Bypass to Lotani , NH-152 on LHS	KURUKSHETRA	REGULAR	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
571	YAMUNANAGAR WML, NOT ON NH/SH	YAMUNANAGAR	REGULAR	200	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
572	VILLAGE BOHAR ON SH-18	ROHTAK	REGULAR	150	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
573	Village Saidpur on 60 meter wide road of IMT Kharkhoda	SONIPAT	RURAL	100	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
574	Between Village Malha Majra and Village Nizampur Khurd on Halalpur Road	SONIPAT	RURAL	90	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
575	Village Gangana	SONIPAT	RURAL	120	SC PH	CFS	35	35	1225	0	0	Draw of lots	0	2
576	Village Gharwal	SONIPAT	RURAL	80	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
577	Village Khanda	SONIPAT	RURAL	80	OPEN CC 2	DC	35	35	1225	16	35	Draw of lots	5	4
578	Village Baroda Mor	SONIPAT	RURAL	85	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
579	Village Farmana	SONIPAT	RURAL	80	OBC CC 1	DC	35	35	1225	16	35	Draw of lots	5	3
580	Village Datauli	SONIPAT	RURAL	100	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
581	In between Village Samar Gopalpur and Village Madina on Samar Gopalpur-Madina Road	ROHTAK	RURAL	100	OBC CC 1	DC	35	35	1225	16	35	Draw of lots	5	3
582	Village Pakasma	ROHTAK	RURAL	80	OPEN CC 1	DC	35	35	1225	16	35	Draw of lots	5	4
583	Village Mokhra Khas	ROHTAK	RURAL	80	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
584	Village Farmana Khas	ROHTAK	RURAL	80	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
585	Village Kherainti	SONIPAT	RURAL	80	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
586	Village Nanhera, Tehsil Indri	KARNAL	RURAL	80	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
587	Village Barona on Bahadurgarh-Kharkhoda Road	SONIPAT	RURAL	80	OBC	DC	35	35	1225	16	35	Draw of lots	5	4
588	Village Kherla Kalan, On Kherla Kalan-Tighra Road	NUH	RURAL	70	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
589	Village Bhogipur, On Bhogipur-Subasheri Road	NUH	RURAL	70	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
	VILLAGE GHATASER ON KHANPUR-NIZAMPUR ROAD			70	000	-								5
590	(ON IMLH ROAD)	MAHENDRAGARH	RURAL	85	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
591	BETWEEN KM STONE 44 TO 49 ON NH71B (New NH- 919)	NUH	REGULAR	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4

			1 1		1		1	1			1	1	1	
592	BETWEEN KM STONE NO. 67 AND 70, RHS ON NH-8 (NEW NH-48), DELHI-JAIPUR ROAD	REWARI	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
593	Between KM stone 40 to 44 on NH71B (New No NH- 919)	NUH	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
594	On Tauru-Bilaspur Road, Outside Tauru Muncipal Limit	NUH	RURAL	70	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
595	Village Rangla, Utoon-Rathiwas Road.	NUH	RURAL	70	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
596	VILLAGE AKERA ON BHIWADI-AKERA ROAD.	REWARI	RURAL	60	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
597	Within Hodal Municipal Limits (Not on NH/SH).	PALWAL	REGULAR	120	OPEN CC 2	DC	20	20	400	32	55	Draw of lots	15	5
598	From Ambience Mall to Khedki Daula Toll Plaza, RHS, on NH48 (Old NH 08), Delhi -Jaipur Road	GURUGRAM	REGULAR	285	SC	CFS	20	20	400	0	0	Draw of lots	0	3
599	Village Dhauj on Sohna-Ballabhgarh Road.	FARIDABAD	RURAL	65	SC PH	CFS	35	35	1225	0	0	Draw of lots	0	2
600	ANYWHERE ON HATHIN-UTTAWAR ROAD	PALWAL	RURAL	65	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
601	From Ambience Mall to Khedki Daula Toll Plaza, LHS, on NH48 (Old NH 08), Delhi -Jaipur Road	GURUGRAM	REGULAR	280	OPEN CC 2	DC	20	20	400	32	75	Draw of lots	15	5
602	WITHIN 1 KM OF NANGAL CHOUDHARY ANAAJ MANDI ON NANGAL CHOUDHARY-KOTPUTLI ROAD.	MAHENDRAGARH	REGULAR	120	OBC	DC	20	20	400	32	55	Draw of lots	15	4
603	Village Uttawar on Nuh-Hodal Road, District Nuh	NUH	RURAL	70	SC CC 1	CFS	35	35	1225	0	0	Draw of lots	0	2
604	VILLAGE AMARPUR JORASI ON NARNAUL-NIZAMPUR ROAD	MAHENDRAGARH	REGULAR	100	OBC CC 1	DC	35	35	1225	32	75	Draw of lots	15	4
605	Village Pathredi on Bilaspur Tauru Road, MDR 132	GURUGRAM	RURAL	235	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
606	Village Kithwari, On Palwal- Aligarh Road(NEW NH 334D)	PALWAL	REGULAR	150	OBC PH	СС	35	35	1225	32	12	Bidding	30	4
607	Palwal Within Muncipal Limit, not on NH/SH.	PALWAL	REGULAR	130	OBC	DC	20	20	400	32	55	Draw of lots	15	4
608	Village Bilaspur on Bilaspur Tauru Road, MDR 132	GURUGRAM	RURAL	210	SC CC 1	CFS	35	35	1225	0	0	Draw of lots	0	2
609	VILLAGE MUSEPUR ON REWARI BERLI ROAD	REWARI	RURAL	75	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
610	Village Dhunela,on Gurgaon-Sohna Road,NH 248A	GURUGRAM	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
611	VILLAGE JARTHAL ON PACHGAON-RABARKA ROAD	REWARI	RURAL	75	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
612	VILLAGE LALPUR, LHS ON KASOLA CHOWK TO RAJESH PILOT CHOWK ROAD	REWARI	RURAL	120	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
613	Village Silani on Sohna - Palwal Road (NH-71B OR NEW NH 919)	GURUGRAM	REGULAR	170	OBC CC 1	DC	35	35	1225	32	95	Draw of lots	15	4
614	Village Gohana, On Gohana to Shikrawa Road	NUH	RURAL	70	SC CC 1	CFS	35	35	1225	0	0	Draw of lots	0	2
615	With in Municipal Limits of Pataudi, on Haily Mandi- Bilaspur Road	GURUGRAM	REGULAR	155	OPEN CC 1	DC	20	20	400	32	55	Draw of lots	15	5
616	Village Fatehpur Biloch, On Piyala - Fatehpur Biloch Road.	FARIDABAD	RURAL	60	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
617	BETWEEN KM STONE NO. 40 AND 42, LHS ON NH- 352W (PATUADI-REWARI ROAD).	REWARI	REGULAR	150	ОВС	DC	35	35	1225	32	95	Draw of lots	15	4
618	Village Dhatir, NH-919 (old NH71B)	PALWAL	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
619	Village Narheda, Tehsil Pataudi, On Pataudi-Bilaspur Road	GURUGRAM	RURAL	160	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
620	VILLAGE- BIDAWAS ON BAWAL- KOTKASHIM ROAD	REWARI	RURAL	75	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
621	Village Janaula on Gurugram -Pataudi Road (NH- 352W)	GURUGRAM	REGULAR	180	SC	CFS	35	35	1225	0	0	Draw of lots	0	3

	WITHIN MUNICIPAL LIMIT OF MAHENDERGARH ON	1	1 1										r	T
622	MAHENDERGARH TO CHAMDHERA ROAD	MAHENDRAGARH	REGULAR	110	SC	CFS	20	20	400	0	0	Draw of lots	0	3
623	Village Khatiwas on Charki Dadri-Jhajjar Road (New NH 334B)	JHAJJAR	REGULAR	160	SC PH	CFS	35	35	1225	0	0	Draw of lots	0	3
624	VILLAGE BAYAL ON BAYAL-GOLWA ROAD	MAHENDRAGARH	RURAL	120	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
625	Bahadurgarh City,Within Municipal Limits (Not on SH/NH)	JHAJJAR	REGULAR	240	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
626	VILLAGE- PANWAR ON PANWAR-JAT BHAGOLA ROAD	REWARI	RURAL	85	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
627	VILLAGE SEKA ON NEERPUR-SEKA-MANDHANA ROAD.	MAHENDRAGARH	RURAL	85	OPEN CC 1	DC	35	35	1225	16	35	Draw of lots	5	4
628	Village frass wala, Tehsil Kaithal, District Kaithal	KAITHAL	RURAL	55	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
629	Village Akhedi Madanpur on Matanhail-Kosli Road	JHAJJAR	RURAL	110	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
630	Village Dulheda on Jhajjar-Bahadurgarh Road, NH 352R (OLD SH 22)	GURUGRAM	REGULAR	170	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
631	Between Km Stone 30 & km Stone 50 on Delhi - Rohtak Highway, RHS, NH- 10 (New NH-09)	JHAJJAR	REGULAR	200	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
632	Between Km Stone 30 & km Stone 50 on Delhi - Rohtak Highway, LHS, NH- 10 (New NH-09)	JHAJJAR	REGULAR	200	OBC CC 1	DC	35	35	1225	32	95	Draw of lots	15	4
633	Village Ajnara Kalan, Tehsil: Thanesar	KURUKSHETRA	RURAL	60	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
634	SADHAURA WML, NOT ON SH	YAMUNANAGAR	REGULAR	150	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
635	Tehsil Ismailabad, LHS from Ambala to Kaithal on NH 152	KURUKSHETRA	REGULAR	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
636	From Khajuri Bridge, Yamunanagar to Kalanour (ODR)	YAMUNANAGAR	RURAL	120	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
637	Village Ratandera, Tehsil: Thanesar	KURUKSHETRA	RURAL	55	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
638	Village Mohri, Tehsil: Shahbad	KURUKSHETRA	RURAL	115	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
639	Village Ghoron, Tehsil: Jagadhri	YAMUNANAGAR	RURAL	60	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
640	From umri chowk kurukshetra towards Karnal, LHS on NH-44, within Kurukshetra district limit	KURUKSHETRA	REGULAR	150	OBC	СС	35	35	1225	32	12	Bidding	30	4
641	Within 4 Km from Buria Chowk on Buria Road	YAMUNANAGAR	REGULAR	150	OBC	DC	20	20	400	32	55	Draw of lots	15	4
642	Village Dhanoura on Ladwa - Gajlana Road	KURUKSHETRA	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
643	WITHIN 5 KM OF VILLAGE SINGHANI ON SH-19	BHIWANI	REGULAR	100	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
644	VILLAGE KHERI JALIB ON SH 10	HISAR	REGULAR	100	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
645	WITHIN 10 KM OF VILLAGE BARWALA RURAL ON SH 10	HISAR	REGULAR	110	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
646	VILLAGE KHARA BARWALA	HISAR	RURAL	80	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
647	From NH 44 to NH 152, on New Proposed Ambala Ring Road	AMBALA	REGULAR	155	Open PH	DC	35	35	1225	32	95	Draw of lots	15	5
648	On New Kala Amb-Ambala Highway, from Kala Amb to Shahzadpur on RHS, Ambala	AMBALA	REGULAR	160	OPEN	СС	35	35	1225	32	12	Bidding	30	5
649	Panchkula city WML I	PANCHKULA	REGULAR	200	OPEN	DC	20	20	400	32	75	Draw of lots	15	5
650	Ambala Cantt WML 2 (Not on any SH or NH)	AMBALA	REGULAR	115	SC	CFS	20	20	400	0	0	Draw of lots	0	3
651	From Village Mohra to Dhurala, District Ambala	AMBALA	RURAL	60	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4

# Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

\* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website (www.bharatpetroleum.in / www.hindustanpetroleum.com / www.iocl.com / www.petrolpumpdealerchayan.in ) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 27/09/2023.

Type of RO	Type of Site	Category	Application fee in Rs.	Type of RO	Type of Site	Category	Applicatio n fee in Rs.	
Regular	CFS	SC/ST	3000	<b>Rural ROs</b>	CFS	SC/ST	2500	
ROs	CC	OBC	5000		СС	OBC	4000	
	CC	Open	10000		СС	Open	8000	
	DC	OBC	5000		DC	OBC	4000	
	DC	Open	10000		DC	Open	8000	

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every 05 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For any information with regard to the advertisement, candidates may contact the following address:-

State	Territory	Distt Covered	Address	Contact no
HARYANA	AMBALA	AMBALA	Territory Coordinator ( Retail ), Bharat	
		KAITHAL	Petroleum Corporation Limited, POL	
		KURUKSHETRA	Depot, Lalru, Village Alamgir, Post	7526851555
		PANCHKULA	Tiwana, Tehsil Dera Bassi, District	
		YAMUNA NAGAR	Mohali, Punjab-140501	
	HISSAR	BHIWANI	Territory Coordinator (Retail), Bharat Petroleum Corporation Limited Territory Office 2nd Floor, S.J. Tower Sector-13, Tosham Road, Hisar, Dist. Hisar Haryana-125 005	01662310052
		CHARKI DADRI		
		FATEHABAD		
		HISAR		
		JIND		
		KARNAL		
		PANIPAT		
		ROHTAK		
		SIRSA		
		SONIPAT		
	REWARI	FARIDABAD	Territory Coordinator (Retail),	
		GURUGRAM		
		JHAJJAR	Bharat Petroleum Corporation	
		MAHENDRAGARH	Limited, Rewari, Bawal Road, Near IOC	01274269301
		NUH	Terminal, Village- Karnawas, Rewari -	
		PALWAL	123401	
		REWARI	1	

